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vI Semester B.Com. Examination , May lJune 2Ol9

COMMERCE

Paper6.6zElectivepaper-IV:CostManagement
(cBcs}(Fresh+Repeaters}(2o16-L7&onwards}

Max. Marks : 70
Trme : 3 Hours

Instrttction : Answers shgulcl be turitlen completely either in English or in Kannada'

eqrD?l - a /SECTION-A

rgir$ olDdmddJo ecco s'Dd-oi-.-(n erc6o3,. 1;9 ro'i-{ld,d 2 (',cdd$b' 5x2=LO

Answer any five sub-que-'stions frorn the following' Each sub-question carries

2 rnitrks.

1" (a) :--c.;.oJ: io3)c9rc- L-g,iodq-r\ sq)'l'

State the features of i:udgetery control'

{hl ;-i:--" w53lt ;Ci;lii 'l
\ -,

What is Valuc analYsis ?

(c) o.:at;i;o:t I r'-lJJr-5:0 **:i;; -sil#& d{U:"'

Mention an1' lour lunctional budgcts'

(c1) Cu::i*E trQ)d ;q.o-'i!- ui':doodd9'irl gsli'

State thc benclits o1'ABC Costing'

{r:l f := ):3 ;cIJiil 'l
;l

Whar is marsitr ot- siLlclY ?

(l-l :,ii-ir =4,,=-z"rl ^l;u:--; 'l

What is matcrial cost variance ?

. J :^--+ -^-J-J- O(g) JQ t',ii:1_ ^ -'Ju\:r :

What is Stan<1arr1 Ct>sting ?

P.T.O.
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&epd -* ISECTION-B

6vnn Olrod)6-oddro d)6& aafiEii :ruJl,r,. c3 a.n 6 ::6i;:. 3x6=18
J{ j Jri

Answer any three of thc followrng. trach question carries 6 marks

2. uc$i"o$ Do3:cdroi oilod)dJDoJil9$, dt3 iroc.-fnd

List out the limitations of budgetarv control.

3. A{ d€ruDtF erdDd"oodd9d,r{ g9:r.

State the advantages of Standard Costing.

4. e,od) iodqt *idd9r * oe6 ;d :
a

Ji"?O.t-d -o ig ot€.":ril T 20

dg c$JDAw'd z;ien/r;; d?i, { 12

6 1r\ 9. i -{oJ:?o''ir&w du wallYv
ww

< 4,000

dod:bGoSoo :

(a) e;od ti-ocDt; dOdcoco

, (b) idcA6e zio6b o$Ja&ufilS*2 ut:q dJod$q

(c) d.rai nd':r.,€ zSod: o$Ja&ufdgq ;"q dJad$Q i:eoetci id ie. 20 dG;:o;-:=r,

The following data rclates to a firm :

Selling Price Per unit < 20

Variable Cost Per unit < 12

Fixed expenses < 4,000

Calculate :

(a) P/V ratio

(b) BtrP (in units) and in value

(c) Ncw BEP (in units) and in valuc if Sclling Price is reduced by 2Ooh
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5.

ii

3

Lo.n 6cIcl nU6) d'"r"q.-l+: X

dr dvdodc3d :

GS-475

+r-?r \/ a-rJr*"Y ' **d

;D&rd d:eu:;ial,n*o di Sui8odc3j :

doiioto Eoa;cQd Ct,iJd*E d$av:

{q5-n icacQg a{,rv:
a

coe6 erieddei iczuoQd dq31i*;

-ge c$JE&Ufd i:ee;: alz3rril$&{ ABC ni*-o* erulCn€nxr dodJecGCJO'

A Company manufactures two products X and Y using common facillties.

The following cost data for a month are presented to yoil :

Product X Product Y

Units Produced 5,000 60,000

Total Machine hours 20,000 1,20,000

Total number of Set-uPs 20 44

Total number of Furchase Order 160 384

The annual Overheatds zrrc as under :

Volume related activitY expenses

Set-up related expenses

Expenses relating to orders

Calculatc the Overheads per unit absorbed using Activity Based Costing

approach.

< 5,50,000

< 8,20,000

{ 6,18,000

< 5,50,000

{ 8,20,000

< 6,18,000

X dI'odr Y derofrr

e.,.0 Eo e &C C'i-ocl l,f dst
d

5,000 60,o00

LulJ c$og dc*d9r 20,o00 1,20,0O0

Lt3: {iSiiiv icsQ.
;qJ't

20 44

z-r,J: coeCI lj-3sdv -,,asJ
L!

160 384

P.T.O.
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2017 1,20,000 8,000

2018 1,40,000 13,000

dod:EoGo}:O :

(a) e;ozP drouot: dod;ore

(b) Xabr6g aoir:

(c) { 1,80,000 d;oooo;d, e;d:d enzP

(d) < 12,000 erozf deiu eieaod t:oooul

ic) Sedt *.og 2018 dO
d

(fl ?Jdtroi-$d da-J, .;uao adrriq;d

I lllilil illll lll lllll lllll llll llll

6. J{ topord-cd dcifir A i :,reiddd aSeaond:i d4 a-:t c;:ocerud 15 kgs

oo"r*o 
"ddg 

&d Csr < 20 {,3 d.d. d dzflaoi* d;o&8o$od t 1,000 kgs ;Igri*d:*
< 2,64,000 doJ zuvld med.t 1,000 dd6r A d vuooddoJ: obJoOL='dS$d

erosoO&d.

r(,Jt6F ;^sf,"iils-c. 606)60G.a,J0.
Jn

The Standard Material rcquired to manul'acture one unit of product 'A' is
15 kgs and the Standard Price of materierl per kg of material is { 20. The

cost accounts record.s however, revealed that 1 1,000 kgs of matcria,ls costing

{ 2,64,000 were uscd lor manufacturing 1,000 units of Product'A''
Calculate material variances.

&eori-xISECTION-C

dgnd olrodoodd.ro dlJod> {dlield uDqo:l. {,9 €.d4d 14 erodilst. 3xL4=42

Answer any three of the following. trach question carries 14 marks.

7. d;ooou *4 *6 cddc Cdrileri &e Ad :

*dr drooet^t eToeJ

4
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The Sa-les and Profits jbr

Year Sales

20L7 1,20,000

2018 1,40,000

Calculate :

(a) P/V Ratio

(b) Break F'.-ei: Po.:-t'.

(c) Profit when Sa1es are { 1,80,000

(d) Sales required' to earn a profit of { 12,000

(e) Margin of SafetY in 2O1B

(f) Variable. Cost of the two Years

8. t-4-18 dod dod0cJr BdoQd 9ol* { 75,000, e8'ef - a3Ja66 2OlB d dcbad

dradr .Borl9 dd& dcorid dgd$d,,ioSmOXe, ddnd doe'9o$abd &edenhd'

.9vJ l\/,
;bcroul $oeDdd: dJoe d:eu>dafd*:

we9.9JU
9,600 3,000 1,700

ta),JV W r- i 5.rioo 9,000 3,000 1,900

v\ 9.es6'
c, t^i,J 16,OOO 9,200 3,200 2,000

-{."JN\ 17,OOO 10,000 3,600 2,200

o- a--'6'
ar.J c, CJ

18,000 10,400 4,000 2,300

5

two years as below :

Profit

8,000

13,000

cs-475

god$ Eeei erdQ 0ede:cnd.

-e igie;cRi.

.add $oao3rl*: :

(a) d,odrEoodcb .rdr 3:i{ me;d udQ &eGcbeed'

(b) d;omt:C de. z5 ir,;r iraoilJ "nE ryddod 1

(c) d.,oO tbdl dtee;:;rLilg mi0 ecdd I goilSr'

(d) sereo$ irod { 25,000 el-.ad 2018 d iredobq

P.T.O.
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A manufacturing Company is expecting to have { 75,000 Cash in hand on
1-4-lB and it requcsted you to prepare a Cash budget for three months
April to June 2018. The following information is supplied to you :

Months Sales Purchases Wages Overheads

February 14,OOO 9,600 3,000 7,700

March 15,000 9,000 ,3,000 1,900

April 16,000 9,200 3,200 2,000

May 17,000 i0,000 3,600 2,200

June 18,000 10,400 4,000 2,300

Other Information :

(a) Period of Credit allowed by supplicrs is two months.

(b) 25"k of Sales are lor Cash and the period o[ Credit allowed to Customers
is one month.

(c) Delay in payment o1'Wages and Overheads is one month.

(d) Income tax { 25,000 is to be paid in June 2018.

60 a"dilSq dlRo$ri Lod) dsid redi &oe eddfr$: di ddSodoSd :

gidoro s?i
j

d.o0d$ noal.
U

-J-) 
-l ^aqhJ9L,gJ ctJ9\./

{3 dou3rl

{

d.nOrl* ioai,
;ndd doe

gi3 dodrl

{
r'Dds.d a;)F-d 75 60 70 70

ud-d-oUe;"i ma)Fd
O

45 40 30 50

dldo.dbd 6lcll:rd
U

60 30 BO 20

dond 62 ;rodd*9, ;u:re.oifxooad:.

dodbGo9oo :

(a) 6oi).3 dz!, droori

(b) 6-o}rFd dd d-ao^;J

-r 
--) )JJ )-)

{C} 6O:J)i 6 qr69 --or;t

(d) 6ii..rd ,lrgeo ;rv:ri
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The information regarding composition and the weekly wage rates of labour
force engaged on a job scheduled to be completed in 60 weeks are as

folior,r.s :

Tlre work completed in 62 weeks.

Calculate :

[a) Labour cost variance

(b) Labour rate variance

(c) Labour efficiency variance

(d) -Labour mix variance

1O. SA etuCGfd so;::;: ;-f =-i:nd:i i;ee-ri?1J- tJA ?,3!'-'d ;ioo3;oro €3 iia8oicgi :
!

d{ noSidd

.J 
^-r-i\

!-r^-)*Ji(€ UOGI

i. p ":r{cl-/w\www

dr"i r^roed

g,06"4i)

J_J.*J
cnJgQ9(Jg(J

-Js.-i-mwvwJga9

,
r-{'\ rlRof-.^J: iu/ I JJV\ W 3,20,000 -,J o4.l,qt, I.r at.

JA\ OI IV dV*.
s)

800

a,-a-?:<-l\-.tLv9, -JirW(J
a

3,00,000 ae*rdfr# ioc 500

CJW- g).LW!) 1,95,000 -2-25 )^.tril-:iilr- 0itE /\u3i/\vi 3,000
J---J.! \--aJr
/ uiccJ-g; cJtoi \-uJ

L
1,70,000 -iq' .tJii(1 l.^at.UUW\ULJIIV 4VW^

\,
850

c3:o9frtb 4,25,000 o3:cddqj ae; 25,000

GS-475

Types of Labour

Standard Actual

No. of Workers
Weekly Wage
rate per hour

{
No. of Workers

Weekly Wage
rate per hour

?

--/.) 60 7A 70

\.: -+'- < -_- .. a 45 40 30 5C)

- --:.',--,,- 60 30 BO 20

P"T.O.



l GS-475

d^<1nirr o ^-^D gnCCOeOUw'iJ\-A].\, {!vL

m-,;:iri{ -r{, < 1,20,000
;;u $ fvrbdcg; ,

^?ra-? - 
-i-Ql r\rv ^iu_crcJ

6 r-2J J^(ii.i\aJrr uJtE /iuw*llvv

Co.)ed#ri* ic,ri"rA)

mrj:nfi9 srdedfrsc 20

25

600

30

o$o9 tiJdo3"o(fr 6De 2,OOO

dr dodC no{mC u3:eu:dzfl; ddf.bn i}d*
ddddD. docdr6eono abdr- z3o:dst s6rod
doJiooto$Qd Cz{dii:n dot:aacsro.

;$;l*e;: r r:I:lY"'ti\fr ooi az$. tsee;d

aiaS:r- ifrl.-arc. ur uodil ?m6r

i lll111i ililll ill lllil illil llil llll

LCil gc*i 3.000 :cili-ilil.: 'X'Ilr,ii JcJJil-ri';' x-d
ili$ dree ,$aSr- { 2,110,000. r;ac3cln5eo'r drl'*tjdils

The budgcted overhcad and cost l)rirrcr volumes of SA Ltd, arc a.s {bllows :

Cost Pool
Budgeted
Overhead Cast Drir.er

Budgeted
Volume

{
Material Procuremcnt 3,20,000 No. r"ri'Ordcrs 800

Machiree Set-up 3,00,000 No. ol'Sr:i -i.tps 500

Maintenance 1,95.000 Mai n1 erllt nc{:: h ()tlrsl 3,000

Qualitl, Control 1,70,000 No. of inspe ctiorts 850

Machinery 4,25,000 No. of niachine hours 2r,i,00C,

The Company has producecl a Lratch of 3,00() colltilol'r{-ri.ii.:, t;i' 'X'. Ils; M:rierial

Cost was < 1,20,00i1 and Labour Cost r,vas { 2,30,000.'i'}rc i-Isltgc o1'activities

of this batch arc as lollclws :

Material Orders 20

Sct-up of Machines 25

Maintenancc hours 600

No. of inspections 30

Machine hours 2,000

Calculate thc Cost Drivcr rates [hzrt arc itsr;rl ii.ri r,r)Iri;rr.riirig the appropriate

amount of C),u,erhcad to this batch atncl itsc,.:t't;rit; il:c c(.)i:it of the batch of the

component using the activity based r:osting'

I
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11. (a) 
=? 

:!=:; fijA-gc: ULr.d- *lcJ 7Oo/o. BOTo;:gJ 90% ];;Cg .]-$dJr%

i:c:;:=t-= r,l:J-il?; mcr-r.o ileerd{, ddd(.b, s,omE3) il;ode;od d.9 ded d'oo

^r a ^-+.-la-l.
^!,9 q:Julll)V-

de. 8o xod>drrE*

i2,000

4,000

20,000

2,000

.GS,475

rios3ri dod)bGo$;o.

&ddzlSc

r-eerbd d$,av:

+* aoi I aoqrwg\ u wvv

eJemi! (Stores) -\:1 :

" J J.Ji.i-:rv wei(lYJ

8,s.I dx$d?drislr

ei)rd 5s (3o% 1d)

o-ee td: &drdd (60% 1.d)

QAJ

AJdO\/

ad)
)-)JJ^)-
dY'9d/l\il

eo6o&) tedoed oed toO rioiil#c

dt dsnd tddrlgod dod:b&oooo : 
:

(i) mdD! dz$. druooi

(ii) FoSD dd drocri

(iii) FoilD a;Sd droori

roabDr-l$ $OeO ddceto

aaa3ro,o3r $OeO zSd

11,000

3,000

10,000 , :

- 6rIoo

l,24,OOA dou3d$;

(b)

z,od; F85. ';:".;rn "cti.i-d:i riicr'rfr9 ad {dam

aai]flcJ: Ox. .J =E ri]Jaa,ufii

m*flo$ uo3it -l{?-iJ

J ^ -^.-^JJd,iri U {i9riU)c!'oJ ,
:-,;:')

erd Ddeo?bd *eq:daLilS:

P.T.O.
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12,000 o$Jo&tfdslJ

< 36,000

12 cdrn&ufd$c

{10
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(a) PrePare a flexiblc
follorvrng data :rnc1

Plant CaPacitv'

10

buclget t'or Orrcrhead exPenses

;;;?;"" the overhead rates at

Particulars

Variable Overheads

lndirect Labour

Stores including SPares

Semi-Variable Overheads

Power (30% Fixed)

RePairs and N1aintenancc

Fixed Overheads

DePreciation

Insurance

Salaries

Total Overheads

At 80% CaPacitY

4

12,000

4,000

20,000

2,000(60% Fixcd)

Estimated Direct Labour Hours

1 1,000

3,000

10,000

62.000

1,24,0O0 hrs'

\ \llt\\ llill \1\ l\l\\ \lll\ lll\ llll

on the basis of the
'7Ooh, 

B0oo and 90oo
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(b)

i
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From the follorving particulars caiculate

(i) \4aterial Cost Variance

(ii) l,{atcrial Pricc Variance

(iii) Material Usage Variance

Quantity of Material Purchascd

Value of Material Pr-rrchased

Standard quanLity oI matcrial

Required per unit of linishcd Output

Standard Pricc o1' Materia-l

Closing Stock of Matcrial

Finished Output during thc year

es-475

12,0O0 Units

< 36,O00

12 units

{ 10 Per unit

5,000 units

320 units

-oOo-

t.o.


